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ATAT fA&w / General Instructions

1. Candidates are requested to read instructions

1.yt & 3Ry § 6 O | e et ar

HraUTqds UG of | 376t & Forg e g fh
T arw gl feem fAdet &1 areret #Y|

. TR fdeheq TR WX IMEMRA 02 6 T Fel 100
3Rt T gdreT grel|

. 313f Y Tg ST G o e GiEciehr # 7efshd H
F#lY 100 SgTwedT weeT € afe 1S fawara R
el &, o g 39 fadiare a1 RatE Y 3R q@dr weat
Qe & forT 3re Y|

. 375 f Y g AT g TR T o gt giecshr &
3% YUH gse W o v gat H g FEdm gl
3l geaT R & fonelr o o 1 +fel gereem
3R T et et GREcTehT & 31l IS goe gerwan
ar 3u% @ e FEardr froSreeh R
3TRTTI HIRIATE! & fIT T 3aRERT 19|

. 92 GRETeRT WX 30T Ul Al ford dur fAuiRa
TITA W 31 GEATER Y|

MTAIR. I 99 # Ao A, I R
daT, e qRead @rs, IAfed de, mdf @
a7 AR Sew AR fod qur suged wuE W
EEATER |

. 9T GIEERT & 3l A T A & fow 51org & a1 8

. Ul U & I QAehed gl 39ehr RT arv Jeher
T FEY 3R ATl ¢ 3R 3N THIR. IR T R HIMA
TR FATT T STelT AT S

carefully and advised to adhere to all the
instructions given.

. There will be objective type examination of 02

hours duration consisting of 100 Multiple Choice
Questions (MCQ) of total 100 marks.

. The candidate must check that the Test Booklet

has all 100 multiple choice questions in
sequence. If any discrepancy is noticed, report
same to the Invigilator immediately and request
for another Test Booklet.

. Candidate should ensure that the Test Booklet

contains total number of pages written on the top
of cover page of the Test Booklet. The
candidates shall not remove any page(s) from the
Test Booklet and if any page(s) is/ are removed
from his/ her Test Booklet, he/ she will be
prosecuted and shall be liable for criminal action.

. Write your Roll Number and put your signature

on the space provided for the purpose in Test
Booklet.

Fill Roll Number, Test Booklet Number, Test
Booklet Code, Post Applied for, Name of
Applicant, Date of Birth and Signature at
appropriate place in the OMR Answer Sheet.

. Space has been provided at the end of Test

Booklet for rough work.

. Each question has four options. You have to

choose the correct answer from the given options
and darken the relevant circle on the OMR
Answer Sheet.
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9.

10.

11.

12.

13.

14.

15.

16.

Tcdeh U & Hel 3t & [T 01 (Teh) 37 f&am Sirwam
2T e e U2t T ITed 3R AT T § a1 v 7
30 IR & RAfcea far = g, ar 0 9 9
& AT 1/4 (veh TieTg) 37 shre & STwam|

Fcdeh 92T o I 8] shdel Teh INCIThR TUT I el
STel GISE 91 A &1 81| T, 3o, e 3
Sg-fashed 3R Terd H1 S|

JHT.TA.IR. 3 IT6 HF s FISH, ST Hed oMy,
TN TEATY o HIA-HI Ia T Y 30T 474 A1
MearpR Aeg # THAY @BCaR & 39INET AT
dawsls &g wal w@E SeeR g
3N.UA.AR. IR ITh W I H F H|

e aue afafafdt & 3w wE e
3T ST 9eT g T ST F g Sreew
HR 3% 3T IAF & Hedishel 61 fhdT S|
Jegierel e o T H Hioed 3reg it @ e
SrAaTer o forw gferd a1 @i fear smeem|

et AT & uger 373t ol adeT gfe Sisay Fr
g Afd =Aet & S|

R off 3FoficaR Y 3N.UH 3R, 3R U536 F Jafad
forfieres 1 A9 faem adiem g ois @1 At e
&r st

el oY &L T SeoiteT st W 313l & f@ors
f§.a.31.4., A, carr 33C S e fhdll 37
3T SRIAET & @Y g 3gf v 3FEAGany ¢ g
CagaAge Il

Tt ot YR & Taare # 5@ gea Yieasht 1 3
3edTe; €Y AT I AT fgATerer yeer v fuaerm
3TeTeral & 31fOHR &7 7 gem|

10.

11.

12.

13.

14.

15.

16.

One (01) mark will be given for each correct
answer and if any question has been incorrectly
answered or more than one answers have been
marked, then for each such question 1/4 (one
fourth) mark will be deducted.

Dark only one circle for each answer with black
point pen. Scratching, overwriting, tick-mark and
multiple answers will be considered as wrong.

Invalidation of OMR Answer Sheet due to its
folding/ wrinkling or putting of stray marks on it
or due to any other damage to it as well as
incomplete filling of the Test Booklet or
overwriting on the circle or use of whitener, will
be the sole responsibility of candidate. No rough
work on OMR Answer Sheet should be done.

Candidates using unfair means/activities will be
expelled from the examination centre and their
answer sheet will not be evaluated. When caught
indulging in unfair means, the candidate will be
handed over to the Police for further action.

No candidate shall be allowed to leave the
Examination Hall before concluding the
examination.

No candidate shall be allowed to leave the
examination hall without handing over the OMR
Answer Sheet to the concerned Invigilator.

Violation of any instruction shall entail
cancellation of candidature in addition to any
other appropriate action that may be taken by
HFRI, Shimla against the candidate.

English version of the Test Booklet will be valid
for any sort of dispute and will be under the
Jurisdiction of courts of Shimla, Himachal
Pradesh.
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I. BASIC SCIENCE RELATED TO FORESTRY

1.

Which of the following is not a renewable source?

A) Forests B) Wild life

C) Water D) Fossil fuel
rafaf@a & ¥ Fia e a@a a8

A adF B) a=x ST

C) ueir D) Sharew seeA
Environment Protection Act was implemented in our country in the year.........
A) 1980 B) 1986

C) 1976 D) 1990
TATEROT FI&TT FfAfREH gER AU A a¥ # ey R o A
A) 1980 B) 1986

C) 1976 D) 1990

Water pollution is caused by..........

A) Industrial effluents B) Sewerage

C) Farm run off D) All of these
T TGHOT ... & FROT AT §

A 3ilefe Mt B) #Hegarg

C) ¥a 3uaE D) I @it
World Forestry Day is celebrated on:

A) 21 March B) 5June

C) 17 June D) 19 November
faeg aifadhr Rew #Aamar Srar &

A) 21 ATT B) 53

C) 17 5@ D) 19 s@sX

Number of trees required for planting in 0.50km? area at a spacing of 4mx2.5m
will be:

A) 30000 B) 40000

C) 50000 D) 60000

4 7t x 25 A& AW W 0.50 FHA &7 & Auor F AT aegs =¥ A FEar
g1ai:

A) 30000 B) 40000

C) 50000 D) 60000

Who started Van Mahotsav in India?

A) RV Singh B) RN Tagore
C) LB Shastri D) KM Munshi
AR # a7 ARIeHa & YIATT fhaer

A) IR & RAE B) 3w v &k
C) uwa & e D) & uw 7
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7. Wood pyrolysis results in the production of:

A) Charcoal, Gas and Oil
C) Charcoal and Qil

g8 IrRRIfAfAT & 3career g 8
A)  Frger g ik ao
C) oger 3 Ao

8. Neoza/Chilgoza pine is found in:
A) Western Himalaya
C) Central India

A3t/ aBa 9T ST §:

B) Producer gas
D) Charcoal only

B) 3cures &
D) Faa srgar

B) Eastern Himalaya
D) Western Ghats

A)  ofas AT B) odf feATe™m
C) &ty oIRd D) of¥es ae
9. According to National Forest Policy 1998 the percentage of forests in Himalayan
states should be:
A) 33% B) 50%
C) 66% D) 70%
TS af A 1998 & (AR feaATerdlt st F Far &1 gfeera gem aifyw:
A)  33% B) 50%
C) 66% D) 70%
10.  Acloveis:
A) Flower bud B) Fruit

C) Seed
dlar &

A) B Felr

C) &=

D) Vegetative bud

B) wer
D) gaeafa e

11.  Who presided over the Karachi Session of Indian National Congress in 19317

A) Sarojani Naydu
C) Subhash Chandra Bose

B) Mahatma Gandhi
D) Sardar Vallabhbhai Patel

1931 & HRAT TS FEIF F Tt JAfAIAer A regatar fras 2

A) TS AT
C) gwv =g a4

B) wgreAT amedt
D) WeR geaerds ged

12. Income tax in India was introduced by:

A) William Jones
C) Nicholas Kaldor

ART F IMIHT GEarfad fHAT a4am o

A)  [JfoTH Sea

C) fAoeE FeEr
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B) James Wilson
D) Mahavir Tyagi

B) Srg fewsr
D) sgrdR et
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13.

14.

15.

16.

17.

18.

Devaluation of currency leads to:

A) Fall in domestic prices B) Increase in the domestic prices
C) No impact on domestic prices D) Erratic fluctuations in the domestic
prices

AT F e § giar &
A) o FAdr # Frae B) &¥e FoAdr 7 ggfr
C) o FHAAT W F$ 9@ A&7 D) e AT #F AT 3AR-TRE

Which of the following mountains are the oldest according to geological history?

A) Nilgiris B) Satpura Range

C) Vindhyas D) Aravali

frafaf@a & ¥ #la ¥ wda sdefas sfaew & qar gad W= 7 2
A) R B) wager &

C) faex D) 3Rmael

Who among the following received the Nobel Prize Twice in different subjects?
A) Madam Curie B) Frederic Sanger

C) Pierre Curie D) John Bardeen

farafaf@a & & fFaa Rffes Rt & ) ar aee EFR aea B
A) #H=H e B) hsRer @R

C) o =gl D) Sifer srdfar

The rubber is obtained from which tree?

A) Ficus elastica B) Ficus carica

C) Ficus racemosa D) Ficus religiosa

WX FE 93 & grod giar @2

A)  BISHE SATTECH B) wrsha HRe

C)  wewa W D) wewa Yehfisiar

The vegetation which grow mostly in salty areas are called as?

A) Halophytes B) Xerophytes

C) Mesophytes D) None of these
FAEIf ST SAETA AFR a3 F 391t § 3¢ FgT SA1ar §?

A EemrEeE B) foRIwEecH

C) AaprEey D) ot @ 1S 7dr
Which of the following tree belongs to Gymnosperms group?

A) Poplar B) Bargad

C) Simbal D) Silver Fir
frafaf@a & & sia a1 93 Sevasd w91 #71 2

A)  gfger B) g

C) fFaa D) feaR W

5
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19. The Lac is obtained from ------- )

A) Tree
C) Rocks

T 9o g g |
A Iz

C) =ca=

<

B)
D)

B)
D)

20. Which tree is called Flame of the Forest?

A) Palash B)
C) Buransh D)
T 93 1 Sl Y G FET AT &7

A)  garmr B)
C) Gg'r%r D)

Insect
Ocean

Fre
HEEIR

Simbal
Poplar

feaer

U

CIEriny

21.  Which of the following represent maximum number of species among global

biodiversity?
A) Ferns
C) Algae

B)
D)

Lichens
Fungi

fafaf@a & ¥ frad vyofaar dRgs o Rffyar & 3f0Faw =T =+

yfafafteg e &2
A g
C) e

B)
D)

ASFHE
Hah

22.  Which of the following process helps in nutrient conservation?

A) Mineralization B) Immobilisation

C) Leaching D) Nitrification
fArafaf@a & @ sla @ ufhar A aca weor F AgE FA 2
A @fersrEor B)  feerdietor

C) <hfrer D) arsfefreee

23. Kyoto protocol entered into force from

A) 16" February, 2005
C) 31 December, 2012

FIIET WISIhie A g3
A) 16 ®ad, 2005
C) 31 fedev, 2012

24, Major source of Agar wood is:
A) Aquilaria malaccensis
C) Abies spectablis

IR A FAFI FT YT AT o
A)  vFgalar #Aef-ad
C) i wwfeaw
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B)
D)

B)
D)

B)
D)

B)
D)

12" December, 2012
11" December, 1997

12 feEsy, 2012
11 femsy, 1997

Mangifera indica
Oroxylum indicum

Heahftmr sfeer
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25.

Soft wood is presentin .............

A) Gymnosperms B) Angiosperm

C) Both D) None of these
HFE T oo # 91 STt g1

A s B) ufSrausy

C) et D) oot ¥ FIS &

1) ARITHMATIC AND REASONING

26.

27.

28.

29.

30.

Complete the series: 10, 22, 27, ?, 44, 56, 61, 73

A) 32 B) 40
C) 39 D) 42
@ F QU F: 10, 22, 27,2, 44,56, 61, 73

A) 32 B) 40
C) 39 D) 42
What will come nextin: T, Q, N, K, ?

A) F B) G
C) H D) |
3T 4T 3T T, Q, N, K,?

A) F B) G
C) H D) |
Find the square root of .00009.

A) 0.03 B) 0.0003
C) 03 D) 0.003
0009 FT TS AT FfAw:

A) 0.03 B) 0.0003
C) 03 D) 0.003

In a group of cows and hens, the number of legs are 24 more than twice the
number of heads. What is the number of cows in the group?

A) 6 B) 12

C) 18 D) 24

At 3R AT & @ A R A e B F S @ 24 w71 weg A
A e Fas 2

A) 6 B) 12

C) 18 D) 24

Rs. 450 was distributed among 25 persons. If the average of first 12 of them is
Rs. 14 and that of last 12 is Rs.17. Find the value of money given to thirteenth

person.
A) 18 B) 38
C) 58 D) 78
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31.

32.

33.

34.

35.

25 gfFaat & i 450 5. &7 faavor fRar I 39 @ g 12 & dted 14
. § 3t sifaer 2@ 17 5. §1 NS =afea A Re 7w v 71 qrw 7@ oo

A) 18 B) 38

C) 58 D) 78

Formula for volume of a cylinder is:

A) 2mrh B) Iir’h

C) 2mr’h D) 2aDh
et & aryas & v g7 &

A) 2mrh B) IIr’h

C) 2mwr’h D) 2aDh

Pole is related to magnet and in the same way --------- is related to battery.
A) Cell B) Power

C) Energy D) Terminal

Y9 99% ¥ Fafoa § Ak 3l @@ dh ¥ weafta Bl
A Fa B) gx

C) uasif D) effae

A and B are children of C. A is daughter of C and B is son of D. What is the
relationship between C and D?

A) Husband - Wife B) Brother - Sister

C) Uncle - Aunt D) Friends

AR B,CF a=d &1 A CHI 3& § 3k B,D# 47 §1 C 3R D& g w1 Hawr
2

A)  dfF - gl B) g - gt

C) = - T D) ara

Maya is 11" from either end of the row of girls, how many girls are there in the
row?

A) 21 B) 22
C) 19 D) 20
AT JsfRat fY 9T F QA o ¥ 11 § Ty W g, 9Fa & fRaet
A) 21 B) 22
C) 19 D) 20
If A=1 and ACE = 9 then ART=?
A) 38 B) 39
C) 29 D) 28
Ife A=1 31X ACE=9 & ART =?
A) 38 B) 39
C) 29 D) 28
8
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36.

37.

38.

39.

40.

41.

If BOY is coded as ACNPXZ, what would be the code for LIFE ?

A) KMHJEGDF B) LMGHEGDF

C) LMHJIGEFD D) None of these
Ifg BOY 1 ACNPXZ & & & #I13 fFar oirar €, @ LIFE & faw &1 &1 gl
A) KMHJEGDF B) LMGHEGDF

C) LMHIGEFD D) None of these
What is the product of all the numbers in the dial of a telephone?
A) 3,62,880 B) 3,62,8800

C) 3,62,8800 D) None of above
F AT & S A Wl Al FT OGS AT 82

A) 3,62,880 B) 3,62,8800

C) 3,62,8800 D) gorel @ 1S off st

In a zoo, by counting heads, there are 80 deer and peacocks. The number of their
legs is 200. How many peacocks are there?

A) 60 B) 50

C) 30 D) 20

T RfFAER # AT i Aadr & 80 Ror siv AR &1 398 R v w==m 200 81
fraar A &2

A) 60 B) 50

C) 30 D) 20

Find out the alternative which will replace the question mark:
REASON : SFBTPO :: THINK : ?

A) SGHMJ B) UIOL

C) UHNKI D) UJKPM

W AFeT &1 9dT U Y T2 RET S 9GS

REASON : SFBTPO :: THINK : ?
A)  SGHMJ B) UIJOL
C) UHNKI D) UJKPM

Choose correct alternative to replace the question mark in the given series: 1, 2,
6,7,21,22,66,67,7?

A) 70 B) 137

C) 201 D) 301
& 71T sf@em & e Rew F aged F v ¥ Rwew T4 1,2,6,7, 21, 22, 66,
67,?

A) 70 B) 137

C) 201 D) 301

How many rectangles are in the figure?

)

A) 4 B) 7
C) 9 D) 14

https://previouspaper.in



https://previouspaper.in

arpfa & fraar smaa &2
A) 4 B) 7
C) 9 D) 14

42.  Complete the sequence of figures:

OO o |®]| a

9
1 2 3 4 6
B)
/\ /o\
7 A | AN

A)

A)

/B\ VAN
C) A D) A

43. Find the missing pair in the series, EQ, FS, HW, KA, , TL
A) OF B) OB
C) AL D) AM
HEer A IRy SR T FAT, EQ, FS, HW, KA, TL
A) OF B) OB
C) AL D) AM
44, Find the missing value: 18.834 + 818.34 -? = 618.43
A) 217.644 B) 218.744
C) 217.744 D) 217.844
Fafeua §&ar AT FIFIT: 18.834 + 818.34 -2 = 618.43
A) 217.644 B) 218.744
C) 217.744 D) 217.844
10
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45. A water tank is 30 m long, 20 m wide and 12 m deep. It is made of iron sheet
which is 3 m wide. The tank is open at the top. If the cost of iron sheet is Rs. 10
per meter, what is the total cost of iron sheet required to build the tank?

A) Rs. 6000 B) Rs. 8000
C) Rs. 9000 D) Rs. 10000

TF gt w1 &F 30 Hew ar, 20 Hew dler ik 12 Hew wEw ¥ @ AR A
aET § 4 § A 3 A ey ¥ T oM wogem 71 IR AR Ay ofie F Ao
10 & 9fy #iex 3, &t & oot & AT o & ofie i Fo awa 741 32

A) Rs. 6000 B) Rs. 8000
C) Rs.9000 D) Rs. 10000
46. A rational number equivalent to 5/7 is equal to ..............
A) 15/17 B) 25/27
C) 10/14 D) 10/27
5/7 & & IRAT FEAT ............. g
A) 15/17 B) 25/27
C) 10/14 D) 10/27
47. If x and y are complementary angles, then
A) sinx=siny B) tanx=tany
C) cosx=cosy D) sec x=Cosecy
IfE x AR y @ For g, ar
A) sinx=siny B) tanx=tany
C) cosx=cosy D) sec x=Cosecy

48.  Which of the following is not a measure of central tendency?

A) Mode B) Range
C) Median D) Mean
farafaf@a & @ sla &7 gl w1 a9 73
A) Az B) &

C) Mg D) =

49.  The probability of getting less than 3 in a single throw of a dice is:

A) 173 B) 1/2
C) Y% D) 2/3
T & UH U1 A 3 § HA A A FHEET &

A) 1/3 B) 1/2

C) Y D) 2/3

50. A bag contains 50 P, 25 P and 10 P coins in the ratio 5: 9: 4, amounting to Rs.
206. Find the number of coins of each type, respectively.
A) 300, 160, 200 B) 160, 360, 200
C) 200, 360, 160 D) 200, 160, 300

uH dr H 5 9: 4 F U # 50 4, 25 ¥ 3k 10 ¥ F RF afAw §

e For UM 206 5. B 7AF vHR F Rt fr dear wa Ao

A) 300, 160, 200 B) 160, 360, 200
C) 200, 360, 160 D) 200, 160, 300

11
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51. If each side of a square is increased by 25%, find the percentage change in its
area.
A) 65.25 B) 56.25
C) 65 D) 56
I T I F IR TaT H 25% H e §F & A 3HF ahe A gfaerd IRads
AT F
A) 65.25 B) 56.25
C) 65 D) 56
52. If selling price is doubled, the profit triples. Find the profit percent.
A) 100% B) 200%
C) 300% D) 400%
I RFT Aqew T @ Srar 7 A et faeen & smar ¥ amw wfawa @
QI ]
A)  100% B) 200%
C) 300% D) 400%
53. Find the value of (V5-V3)( V5+13).
A 2 B) 3
C) 5 D) 7
(V5-value3) (V5 + \3) &1 AT AT AT
A) 2 B) 3
C) 5 D) 7
54, Find the number which added to itself 13 times, gives 112.
A) 5 B) 6
C) 7 D) 8
I¢ WEAT AT AT, A 13 I- AT 3T & FTAT FI W 112 @) vt @
A) 5 B) 6
c 7 D) 8

55. A student has to obtain 33% of the total marks to pass. He got 125 marks and
failed by 40 marks. The maximum marks are :
A) 500 B) 600
C) 800 D) 900

TF B B U @ F AT FA 3 FT 33% Wed FAT @ar 1 39 125 3w

grea fFe 3t 40 3 T Ber @ AT AWFIA 3T &

A) 500 B) 600
C) 800 D) 900

56. A train passed a telegraph post and 420 m long bridge in 8 seconds and 20
seconds, respectively. What is the speed of train?
A) 35 km/hr B) 52.5km/hr
C) 126 km/hr D) 120 km/hr

TS & o FHU: 8 WHS AR 20 FF3 A vw Tl e 3R 420 A @F g
® IR R & i afg 7= B2

A) 35 feY / ger B) 52.5 feY / ger

C) 126 forelt / et D) 120 foelr / ®er

12
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S7.

58.

59.

60.

61.

62.

If the surface areas of two spheres are in the ratio 9:16, then the ratio of their
volume is .......

A) 2764 B) 64:27

C) 9:16 D) 16:9

Ifg ar et & wag 81T 9:16 F U A §, A IoTh HAAA FT HqUA ... T
A) 2764 B) 64:27

C) 9:16 D) 16:9

Running 4/3 of his usual speed, a person improves his timing by 10 minutes. Find
his usual time to cover the same distance.

A) 40 min B) 45min

C) 46 min D) 48 min

TF P AT HYA AT AT F 4/3 4T &l W &, I8 IUA FHT H 10 R

FUR X ¢ 3H gt 7 @ &= F @ gow 7« w1
A) 40 min B) 45min
C) 46 min D) 48 min

A tap can fill the tank in 8 hours and another can empty it in 16 hours. If both
the taps are opened simultaneously, the time required (in hours) to fill the tank
is:

A) 16 hrs B) 8hrs

C) 10hrs D) 12hrs

TF A 8uC H TF # R FFaT ¢ AR g 3/ 166 # @rell FT Wehal g1 IR
A I TH W @ I & Y ¥FF B o & AT mags gw Y (vt #H) T

A) 16 hrs B) 8hrs
C) 10hrs D) 12hrs
9°+7, when divided by 8, would have a remainder:
A 0 B) 5

C) 6 D) None
9°+7, SIq 8 @ fysnfara fFam amar & ar 9w gl
A 0 B) 5

C) 6 D) None
How many perfect square numbers lie between 120 and 3007?
A) 5 B) 6

C) 7 D) 8
120 3T 300 F i fraer @d Tt wEEw {2

A 5 B) 6

C) 7 D) 8

If Rat is called Dog. Dog is called Elephant. Elephant is called Lion, Lion is
called Snake and Snake is called Camel, then which is a pet animal?

A) Rat B) Dog

C) Elephant D) Lion

13
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afX GF F FA1 FET AT 1 FA B greft FET A1 T FAT A AW Fo@T oA ¢, W
N W FgT AT § AR VT A 5 F1 A1 §, TG Pl A Gl TR $?
A) e B) &l

C) grefr D) %

63. If DREAM is written as 239222614 and TRY is written as 792, then how SKY
can be written in that code?

A) 8143 B) 8162
C) 181223 D) 122318
If§ DREAM &Y 239222614 3 TRY # 792 for@r Jram §, @Y 39 #15 & SKY &
Ha @ a1 aFar &2
A) 8143 B) 8162
C) 181223 D) 122318
64.  Select the missing number from given series: 144, (132), 121, 64, (?), 100
A) 70 B) 80
C) 85 D) 90
& S AEAT § ITIRYT HEAT F AT FX: 144, (132), 121, 64,(?), 100
A) 70 B) 80
C) 85 D) 90
65.  Which one of the given responses would be a meaningful order of the following?
1. Study 2) Work 3) Exam 4.Earning 5. Appointment
A) 1,3524 B) 12345
C) 13254 D) 135,42

farafaf@a Reedt # @ Fla @1 F ads segFa g 1. Ieqae 2) F
3) wdieT 4) A 5. AgfFa
A) 1,3524 B) 1,2,3,4,5
C) 13254 D) 1,3,54,2
I111) GENERAL AWARENESS

66.  The Lingraja Temple built during the medieval period is at:

A) Khajuraho B) Bhubaneshwar
C) Madurai D) Mount Abu
ALFIT & T AT e Afer Rua &

A) G B) sqaeiear

C) gqg{é’ D) #3e 3T,

67.  The monk who influenced Ashoka to embrace Buddhism is:

A) Upa Gupta B) Vishnu Gupta

C) Brahma Gupta D) Brihadrath

MF F dleyr g v & v Feandt F wnfaa B a7 @
A)  3oaT T[ed B) fasuy oo

C)  sEwed D) geau
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68.

69.

70.

71.

72.

73.

Neolithic age is also known as:

A) lron age B) Bronze age

C) Copper age D) New stone age
fafafs gor & w0 & off Srem smar @

A)  eilg g B) aiex o

C) afar o D) rqarsTor et

The ‘Shuddhi Movement’ for reconverting the converted Muslims into the
Hindu fold was initiated by:

A) Arya Samaj B) Prarthna Samaj

C) Shankracharya D) British Government in India
aRafda guemEl # o {g aof & dlet & v et s # wgar #r o
A) I g B) ordfar @eret

C)  efera D) sma # fafeer @R

The original name of Swami Dayanand Sarswati was:

A) Maya Shankar B) Gauri Shankar

C) Daya Shankar D) Kanha Shankar

¥ gAE AIFTC! FT A AW AT:

A) AT AR B) aildr el

C) e i D)  aTegr 2T

Which part of the Indian constitution deals with fundamental rights?

A) Partl B) Partll

C) Partlll D) PartlV

wRe wRue #1 i @1 o AiRe afReRt @ et ¥
A) T B) smer 11

C)  amar 1 D)  ammer IV

Which of the following continents has no volcano?

A) Australia B) North America
C) Africa D) South America
farafaf@a & & fFw Aecdly & F1§ SareerE @@ 32

A sireefomr B) 38 3AReAr

C) 3nhrer D) cfaror 3mfen
Which mountain range separates Himachal Pradesh from Tibet?
A) Dhauladhar B) Pirpanjal

C) Hindukush D) Zanskar
FiT W gda s@er AT ydwr F fdeaa ¥ Jrerer w2
A)  eiemur B) dRusrer

C) fgwar D) S
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74.  Which of the following metals is mainly used in mobile phone batteries?

A) Copper B) Nickel
C) Zinc D) Lithium
famafaf@a & & e arg #1 379 J&7 w7 @ ANEa BT & Sl F
ST 82
A)  FT B) oo
0 = D) fofaas
75.  Which one is the largest man-made lake in India?
A) Chilika lake B) Sambhar lake
C) Govind Ballabh Pant Sagar D) Wular lake
9Rd & AT AT ge@ 7@ e sla @ &
A Rfesr sha B) @i sher
C) aMfde geady dd IER D) ger s
76.  What is the chemical name of baking soda?
A) Copper sulphate B) Sodium bicarbonate
C) Sodium chloride D) Silver nitrate
T WET w1 TEEEE AW =
A)  FR Fothe B) wiftas sswElae
C) uifzad FaREs D) fReay ATsce
77.  The instrument which is used to measure blood pressure is called
A) Stethoscope B) Spectrophotometer
C) Sphygmomanometer D) Thygmometer
IFAAT T A & fav 7 I F71 399097 FAr Srar § 3@ w1 S @
A)  woERT B) wcrwreHex
O RwadaHeT D) fapmeiex
78.  The deficiency of which vitamin causes anaemia in human beings?
A) Vitamin Bi, B) Vitamin B;
C) Vitamin B; D) Vitamin K
fre R i FA F AT & AT dar 2
A) fafaa &, B) faf@e &y
C) fafaa &, D) fgafas &
79.  The hardest substance found in the human body is:
A) Keratin B) Calcium of bone
C) Enamel of teeth D) Phosphorous of skeleton
AT X F 9T ST aTeT g9 FOR gerd
A Fufes B) &g &1 SHfevms
C) gidt $r seAHer D) el & BHIEPRI
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80.

81.

82.

83.

84.

85.

86.

Image formed by reflection from a plane mirror is

A) Real and inverted B) Virtual and erect

C) Real and erect D) Virtual and inverted
AT §IUT ¥ WAl garT a11§ 71§ B §

A)  gredias 3R 3o B)  amemred 3R wiem

C) areafas 3R dew D)  3memd 3R 3oer
The muscular diaphragm of eye that controls the size of the pupil is
A) Cornea B) Ciliary muscles

C) lIris D) Retina
I FT AAFAX ST AT Ida F HHR A fAafaT Far g
A)  iferar B) fafasrdr o
C) 3mR¥ D) fear

Electrical resistivity of any metallic wire depends upon

A) Its thickness B) Its shape

C) Nature of the material D) Its length
el sft og & AR A Rgga sfoRiuwar ik wweh §

A)  sgHr A B) sde#r 3R

C)  gerd i gfar D) s@dfr ders

In which country people participate in the amendment of the constitution?
A) France B) England

C) Switzerland D) USA
afaus & wudua & g qar & @ ST Ad § 2

A)  wi B) gvdis

C) feagsRels D) Juaw

Who is Minister of State for Environment, Forest and Climate Change?
A) Dr. Harsh Vardhan B) Babul Supriyo

C) Prakash Javadekar D) Anil Madhav Dave
TaTERor, 9 3R Srerary aRade wea wA sl 87

A) 3T gSade B) agw gitmn

C) e STEsHR D) sfeer #meg g9
Which of the following river crosses the equator two times?

A) Congo B) Nile

C) Amazon D) Mississippi
fmafaf@a & & sla @ af sprew @ # ) a8 R w2
A)  Fi B) e

C) @ D) fafafad

Which day is celebrated worldwide on 3" March?

A) World Women’s day B) World Men’s day

C) World Forest day D) World Wildlife day
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3 At @ gfaar s A b @1 femw wama S @2

A) 39T Afger faw B) faea gev feaw
C) 37 a1 feaw D) fara geaelia RRaw
87.  Tons s tributary of which river?
A) Yamuna B) Ganga
C) Satluj D) Ravi
dw P 7 i weEs ¥
A) I B) amm
C)  waee D) e
88. In which city Raja-Rani temple is located ?
A) Varanasi B) Mathura
C) Bhubaneshwar D) Gorakhpur
R aE & T AT Rya ¥
A)  grroTE B) wr
C)  sqaeret D) i@

89.  Which State launched the “Jeevan Amrit Yojna” in April, 2020 to boost
immunity system of citizens of the State?
A) Himachal Pradesh B) Uttar Pradesh
C) Assam D) Madhya Pradesh
P T o U, 2020 A TST F ARSI A YfAWET Yol Y SoETr & &

fT “Slaer 3d Ae=r & Hr 4

A) AT 9T B) 3R weur
C) 3@H D) #ex weer
90. Prime Minister Modi’s Mann Ki Baat with Nation was started from

A) 3" October, 2014 B) 6" November, 2014

C) 3" September, 2015 D) 9" June, 2016
TUAHAT A FT TST & WY AT T a9 F Y A 95 A

A) 3 3ETeR, 2014 B) 6 7aw, 2014

C) 3 fade, 2015 D) 9 31,2016

IV) GENERAL ENGLISH

91. Choose the word which is most similar to, ‘Stunned’:

A) Injured B) Helped
C) Surprised D) Fainted
92.  Complete the proverb, Birds of feather---------- :
A) flock together B) fly together
C) stay together D) live together
18
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93.

94.

95.

96.

97.

98.

99.

100.

Choose the word with correct spelling:

A) Gaurd B) Guard
C) Gared D) Gard
Choose the correct one:
A) Hereis a broken small tree. B) Here is a small broken tree.
C) Asmall broken tree here is. D) Hereis atree small broken

A narrow piece of land connecting two large masses of land:

A) Peninsula B) Isthmus
C) Continent D) Gulf
‘To cut the cackle’ means:
A) To humiliate B) To annoy someone
C) Toactina friendly way D) To stop talking and start
What is the antonym of word Pride?
A) Dignity B) Shame
C) Delight D) Debasement
She has no taste ------ dance.
A) in B) on
C) for D) at
All the people involved in the issue feel a great ......... to his suggestion.
A) Contradiction B) adherence
C) Indifference D) repugnance

One who has special skill in judging art, music, tastes, etc.
A) Raconteur B) Connoisseur
C) Sybarite D) Amateur

*hhkkhkkhkkkkhkhkkkikkkihkhkkihikkik
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